CocTaB uspenus

VH - 80, VH - 80C




CocTtaB nsgenusa

NO. ‘ HanmeHoBaHue Egﬂ NO. ‘ HanmeHoBaHue Egﬂ
1 VH80 1 Pyuka 1 1 34 |Taika M8 DIN 6924 7
2 VH80 2 Pyuka 2 1 35 |laika M10 DIN 6926 2
3 VHB80 3 NopapoH asuratens 1 36 |BuHT M16x35 DIN 912 4
4 VH80 4 Pama konec 1 37 |BuHT M8x20 DIN 912 8
5 VH80 5 WuTok 1 38 |bont M8x26 DIN 6921 1
6 MydTa HaTaxHanA 1 39 |BuHT M8x25 DIN 965 2
20x115x55%17x1 40 |Wait6a 8 DIN 125 12
7 VHB0 7 Pyuka npuxum 1 41 |LWan6a 10 DIN 125 24
8 | VH80 8 lnaHka 2 42 |lWai6a 16 DIN 125 4
9 VH80 9 Kopnyc Bubposo3byan- |1 43 |lWai6a 8 DIN 127 1
TENA 44 |Wai6a 10 DIN 127 20

10| VHB0 10 Kapkac 45 |Wai6a 16 DIN 127

171 | VH80 11 Kpblwka

46 |LWWawnba 10 DIN 440R

12 | VH80 12 Bauok 47 |Waii6a 12 DIN 440R

13 |VH80 13 OcHoBaHue 48 |Wai6a 15 DIN 9021

14 | VH80 14 dukcatop

49 | CronopHoe konblo d14 DIN 471

15 | VH80 15 Koneco 50 |WnoHka 8x7x20 DIN 6885

16 |VH80 16 Btynka

51 |WnoHka 5x5x36 DIN 6885

17 | AvopTusatop 8x15 52 |BonT M12x20 DIN 6921

18 | VH80 18 Mnatika 53 | Bont M6x30 DIN 6921

19 | VH80 19 Kospuk 54 |laiika M6 DIN 6924

20 | VH80 20 Ban nebanatc 55 |WWai6a 12 DIN 125 Cuprum

21 | VH80 21 Kpblwka

56 |PemeHb 3ybuaThini B 17x838

22 | VH80 22 Kpbiwka 57 | Oeuratens HONDA GX160

23 |WkuB 28x90x22x17x1
24 | VH80 24 lainba

222NN 22NN DD

58 | AmopTuzaTop 42x40x2LLUx-
M10x28

25 |Bont M8x16 DIN 933 59 | Tpy6ka pesnHosas d14x2L=30

26 |Bont M10x25 DIN 933 60 |MoawwunHuk NU211EC/P5 SKF

27 |Bont M10x35 DIN 933 2 61 |CanbHuk 48x35x9

28 |bont M10x40 DIN 933 62 | VHB80 62 Pyuka rasa

29 |bont M12x80x50 DIN 933 63 |VPBOHC 63 Ckoba pyuku rasa

NN = D=2 N N RN = ===

30 |Mpobka M16x1,5 DIN 7604 64 | VHB0 64 Tpoc rasa

Alalalalalalain]—

Brass 65 |VPBOHC 65 KpaH 6auka
31 |BbonTt M10x35 DIN 6921 2 66 | VH80 66 Kpbiluka 63uka
32 |lainka M20x1,5 DIN 439 1

67 |BbonT M10x25 DIN 933

33 |lanka M10 DIN 555 16

PeMoHT 1 TexHMYecKoe 06CTyKMBaHMe BUOGpomanT Grost:
www.avtoprom.net

+7 (812) 322-53-53

avtopromar@mail.ru





